



Greetings Returned Volunteers:

On the following pages, you will find the in-country taxable allowances (living allowance, walk around allowance, and leave allowance) per country. Scroll through this document to find your country of service, which is listed in alphabetical order. Use the information provided to fill out page 2 of your "Federal Income Tax Guide for Peace Corps Trainees, Volunteers, and Returned Volunteers - Tax Year 2007". If you have questions, please contact our office at the phone number listed below.

Sincerely,

Volunteer & PSC Financial Services 1-800-424-8580 Ext 1770



Albania

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January through December 2007	ALL	\$227.63	22%	\$50.08/month

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
3/22/2007	6/13/2007	\$4.61	81	\$373.41

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Armenia

Taxable Allowances 2007

\$1= AMD 347

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
Dec. 2006 - Mar. 2007 (4 mo)	All	\$328.53	35%	\$114.99
Apr. 2007 - Sept. 2007 (6 mo)	All	\$299.71	35%	\$104.90
Aug 15 - Sept 2007 (A-15s)	All	\$464.06	35%	\$162.42
Oct. 2007 (1 mo)	All	\$314.12	35%	\$109.94
Nov. 2007 (1 mo)	All	\$328.53	35%	\$114.99

NOTE:

Group	Total for the year	Tax Amount
extended A-13, A-14	\$3,755.04	\$1,314.27
A-15	\$1,106.71	\$387.35

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/1/2007	7/11/2007	\$3.17	41	\$129.97
7/12/2007	7/15/2007	\$14.41	4	\$57.64
7/16/2007	8/15/2007	\$3.17	31	\$98.27

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Azerbaijan

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007	ALL	\$232.71	17.37%	\$40.42
Febuary 2007- March 2007	ALL	\$255.98	17.33%	\$44.36
April 2007-June 2007	ALL	\$232.45	19.09%	\$44.37
July 2007- September 2007	ALL	\$238.47	17.31%	\$41.28
October 2007	ALL	\$359.54	11.49%	\$41.31
November 2007- December 2007	ALL	\$238.47	17.31%	\$41.28

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/28/2007	9/13/2007	\$3.71	78	\$289.38

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Belize

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 -August 2007	Rural	\$425.00	27%	\$114.75
September 2007-December 2007	Rural	\$512.50	27%	\$138.38
January 2007-August 2007	City	\$350.00	27%	\$94.50
September 2007-December 2007	City	\$612.50	27%	\$165.38
January 2007 -August 2007	Dist. Town	\$487.50	27%	\$131.63
September 2007-December 2007	Dist. Town	\$512.50	27%	\$138.38
January 2007 -August 2007	Urban Cayes	\$350.00	27%	\$94.50
September 2007-December 2007	Urban Cayes	\$677.50	27%	\$182.93
January 2007 - August 2007	Rural Cayes	\$350.00	27%	\$94.50
September 2007-December 2007	Rural Cayes	\$667.50	27%	\$180.23

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/23/2007	8/23/2007	\$5.00	62	\$310.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Benin

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
December 2006	Rural	\$ 277.00	35%	\$96.95
December 2006	Urban	\$ 260.00	35%	\$91.00
Januray & Feburay 2007	Rural	\$543.00	35%	\$190.05
Januray & Feburay 2007	Urban	\$845.00	35%	\$295.75
March, April & May 2007	Rural	\$543.00	35%	\$190.05
March, April & May 2007	Urban	\$845.00	35%	\$295.75
June, July & August 2006	Rural	\$543.00	35%	\$190.05
June, July & August 2006	Urban	\$845.00	35%	\$295.75
September, October & November 2007	Rural	\$543.00	35%	\$190.05
September, October & November 2007	Urban	\$845.00	35%	\$295.75

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
7/20/2007	9/21/2007	\$2.92	63	\$183.96

Amount Per Month	Tax Amount
\$24.00	\$24.00



Bolivia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Urban	\$343.83	23%	\$79.08
January 2007 - December 2007	Semi-Urban	\$311.08	22%	\$68.44
January 2007 - December 2007	Semi-Rural	\$246.85	33%	\$81.46
January 2007 - December 2007	Rural	\$201.51	41%	\$82.62

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
1/24/2007		\$2.25	77	\$173.17
5/9/2007		\$2.25	77	\$173.17
8/22/2007		\$2.25	70	\$157.43

Amount Per Month	Tax Amount
\$24.00	\$24.00



Botswana

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	CCB, DAC, Life Skills	\$248.00	40%	\$99.20
January 2007 - December 2007	NGO	\$283.90	40%	\$113.56

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
4/20/2007	6/20/2007	\$4.18	62	\$259.16

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Bulgaria

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount Per Month	Percentage Taxed	Taxable Amount per Month
January 2007- August 2007	Everyone	\$284.29	40%	\$113.72
September 2007- December 2007	Regular	\$295.71	59%	\$174.47
September 2007- December 2007	Large Urban	\$310.00	61%	\$189.10
September 2007- December 2007	Long Commute	\$310.00	61%	\$189.10
	Large Urban and Long			
September 2007- December 2007	Commute	\$324.29	63%	\$204.30

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Taxable Amt. For Entire PST
B-21 April 16, 2007	June 28th, 2007	\$5.00	74	\$370.00
B-22 August 6, 2007	October 17th, 2007	\$5.00	73	\$365.00

Amount Per Month	Taxable Amount Per Month
\$24.00	\$24.00



Burkina Faso

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- December 2007	Level I	\$280.37	60.60%	\$169.90
January 2007- December 2007	Level II	\$257.00	60.60%	\$155.74
January 2007- December 2007	Level III	\$233.64	60.60%	\$141.59

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/6/2007	8/24/2007	\$2.92	80	\$233.64
10/5/2007	12/7/2007	\$2.92	64	\$186.91

Amount Per Month	Tax Amount
\$24.00	\$24.00



Cambodia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Monthly Amount	Percentage Taxed	Monthly Tax Amount
April 2007- August 2007	ALL KH	\$170.00	13%	\$20.00
September 2007- December 2007	ALL KH	\$185.00	22%	\$40.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/5/2007	4/3/2007	\$3.00	55	\$165.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Cape Verde

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	All	\$5,024.28	36%	\$1,808.74

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/29/2007	8/31/2007	\$3.84	64	\$245.76

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Cameroon

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	All	\$320.00	46%	\$62.02

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/14/2007	8/22/2007	\$2.40	70	\$207.13
9/23/2007	12/5/2007	\$2.69	75	\$207.13

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



China

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007	All	\$164.21	31%	\$50.81
February 2007 - December 2007	All	\$164.21	33%	\$54.07

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
7/2/2007	9/6/2007	\$3.50	62	\$217.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Costa Rica

Costa Rica Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
From Jan to Dec 2007	San Jose city	\$382.52	31%	\$118.58
	All parts of Costa			
	Rica except San Jose			
From Jan to Dec 2007	city	\$322.92	37%	\$119.48

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/28/2007	5/19/2007	\$3.86	79	\$304.94
6/28/2007	9/14/2007	\$3.86	79	\$304.94

Amount Per Month	Tax Amount
\$24.00	\$24.00

Dominican Republic

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007-December 2007	Level I	\$368.13	34%	\$125.16
January 2007-December 2007	PCVL	\$487.77	28%	\$136.58
January 2007-December 2007	Level II	\$322.11	39%	\$125.62
January 2007-December 2007	Level II+	\$339.22	40%	\$135.69
January 2007-December 2007	Level III	\$276.10	39%	\$107.68
January 2007-December 2007	Level IV	\$256.63	43%	\$110.35

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/15/2007	4/25/2007	\$1.37	32	\$43.84
2/15/2007	4/25/2007	\$1.06	39	\$41.34
9/13/2007	11/21/2007	\$1.37	32	\$43.84
9/13/2007	11/21/2007	\$1.06	38	\$40.28

Walk Around Allowance was divided in two for each group in order to reflect different rates used while receiving training in the capital and training in the campo

Amount Per Month	Tax Amount
\$24.00	\$24.00



Eastern Caribbean

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	St. Lucia	\$629.63	22%	\$138.52
January 2007 - December 2007	St. Vincent	\$561.48	24%	\$134.76
January 2007 - December 2007	St. Kitts and Nevis	\$806.67	20%	\$161.33
January 2007 - December 2007	Grenada	\$685.19	22%	\$150.74
January 2007 - December 2007	Antigua and Barbuda	\$806.67	19%	\$153.27
January 2007 - December 2007	Dominica	\$647.78	25%	\$161.94

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
7/27/2007	9/14/2007	\$5.29	49	\$259.34

Amount Per Month	Tax Amount
\$24.00	\$24.00



Ecuador

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	CAT A	\$314.00	31%	\$98.40
January 2007 - December 2007	CAT B	\$230.00	32%	\$74.03
January 2007 - December 2007	CAT C	\$230.00	32%	\$74.03
January 2007 - December 2007	CAT Q	\$314.00	31%	\$98.40

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/11/2007	4/20/2007	\$6.87	69	\$473.71
6/24/2007	8/31/2007	\$6.70	69	\$462.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



El Salvador

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- March 2007	Rural	\$265.00	35%	\$92.75
April 2007-December 2007	Rural	\$300.00	35%	\$105.00
January 2007- December 2007	Urban	\$450.00	35%	\$157.50

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/7/2007	4/18/2007	\$1.93	71	\$137.03
6/5/2007	8/15/2007	\$1.93	72	\$138.96
9/18/2007	11/28/2007	\$1.93	72	\$138.96

Amount Per Month	Tax Amount
\$24.00	\$24.00



Ethiopia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
December 14 2007 - December 31 2007	All	\$100.38	39%	\$39.15

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
10/7/2007	12/12/2007	\$1.66	58	\$96.28

Amount Per Month	Tax Amount
\$12.00	\$12.00



Fiji

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
Jan-Dec 2007	Fiji non-urban	\$3,750.00	21%	\$787.50
Jan-Dec 2007	Fiji urban	\$4,125.00	21%	\$866.25

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
5/20/2007	7/26/2007	\$3.13	67	\$209.38
5/20/2007	8/3/2007	\$3.13	75	\$234.38

Amount Per Month	Tax Amount
\$24.00	\$24.00



The Gambia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2006 - December 2006	Level I	\$374.05	28%	\$81.31
January 2006 - December 2007	Level II	\$311.08	20%	\$62.02
January 2006 - December 2008	Level III	\$246.85	32%	\$79.53
January 2006 - December 2009	Level IV	\$201.51	39%	\$78.30

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
1/25/2006		\$2.69	77	\$207.13
5/10/2006		\$2.69	77	\$207.13
8/23/2006		\$2.69	77	\$207.13

Amount Per Month	Tax Amount
\$24.00	\$24.00



Georgia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - May 2007	ALL	\$294.00	38%	\$111.72
June 2007- December 2007	ALL	\$315.00	40%	\$126.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/17/2007	824/2007	\$3.10	70	\$217.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Ghana

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- March 2007	Urban	\$208.00	48%	\$94.00
January 2007- March 2007	Rural	\$159.00	48%	\$76.00
April 2007-December 2007	Urban	\$243.00	42%	\$102.00
April 2007-December 2007	Rural	\$190.00	33%	\$63.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/12/2007	8/21/2007	\$2.12	70	\$148.00
9/18/2007	11/27/2007	\$2.12	70	\$148.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Guatemala

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- December 2007	Level I	\$386.45	33%	\$127.76
January 2007- December 2007	Level II	\$336.71	38%	\$127.75
January 2007- December 2007	Level III	\$324.21	39%	\$127.77
January 2007- December 2007	Level IV	\$298.29	43%	\$127.76

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
1/18/2007	4/11/2007	\$3.42	84	\$287.28
5/2/2007	7/18/2007	\$3.42	79	\$270.18
8/29/2007	11/15/2007	\$3.42	79	\$270.18

Amount Per Month	Tax Amount
\$24.00	\$24.00



Guinea

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007	All	\$110.00	33%	\$36.30
July 2007 - November 2007	All	\$1,072.00	33%	\$353.76
December 2007 -	All	\$195.00	33%	\$64.35
* Program suspended from Feb to	July.			

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
12/5/2006	Feb. 2008	\$1.91	27	\$51.57

Amount Per Month	Tax Amount
\$24.00	\$24.00



Guyana

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	All	\$207.70	50%	\$103.85

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/1/207	7/26/2007	\$2.48	56	\$138.88

Amount Per Month	Tax Amount
\$24.00	\$24.00



Honduras

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
JANUARY - SEPTEMBER 2007	URBAN	\$293.04	28%	\$82.05
OCTOBER - DECEMBER 2007	URBAN	\$295.06	22%	\$82.62
JANUARY - SEPTEMBER 2007	SEMI URBAN	\$242.20	24%	\$58.13
OCTOBER - DECEMBER 2007	SEMI URBAN	\$263.85	24%	\$63.32
JANUARY - SEPTEMBER 2007	RURAL	\$211.06	29%	\$61.21
OCTOBER - DECEMBER 2007	RURAL	\$221.64	29%	\$64.28

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/4/2007	4/3/2007	\$2.90	79	\$229.10
7/11/2007	9/27/2007	\$2.90	79	\$229.10

Amount Per Month	Tax Amount
\$24.00	\$24.00



Jamaica

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
JANUARY 2006 - DECEMBER 200	ALL	\$345.71	35%	\$121.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
73/2007	8/25/2007	\$10.00	54	\$540.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Jordan

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January -December 2007	All	\$218.93	45%	\$98.52

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
7/8/2007	9/17/2007	\$2.12	71	\$150.52

Amount Per Month	Tax Amount
\$24.00	\$24.00



Kazakhstan

Taxable Allowances 2007

Living Allowance

KAZ 17-18 Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007-December 2007	Tier 1	\$5,960.00	20%	\$1,192.05
January 2007-December 2007	Tier 2	\$5,215.00	20%	\$1,043.05
January 2007-December 2007	Tier 3	\$4,346.00	20%	\$869.21
January 2007-December 2007	Tier 4	\$3,725.00	20%	\$745.03
January 2007-December 2007	Tier 5	\$2,774.00	20%	\$554.72

KAZ 19 Months	Region	Gross Amount	Percentage Taxed	Tax Amount
November 2007-December 2007	Tier 1	\$1,083.00	20%	\$216.53
November 2007-December 2007	Tier 2	\$777.00	20%	\$155.46
November 2007-December 2007	Tier 3	\$680.00	20%	\$136.03
November 2007-December 2007	Tier 4	\$569.00	20%	\$113.82
November 2007-December 2007	Tier 5	\$444.00	20%	\$88.83

Amount Per Month	Tax Amount
\$24.00	\$24.00



Kenya

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - May 2007	All	\$162.46	41%	\$66.60
May - November 2007	All	\$162.31	41%	\$66.71
December 2007 - December 2007	All	\$163.01	41%	\$67.03

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
5/26/2007	August 2 2007	\$4.09	70	\$286.90
9/14/2007	November 29 2007	\$4.09	77	\$314.93
9/21/2007	November 29 2007	\$4.09	70	\$286.90

Amount Per Month	Tax Amount
\$24.00	\$24.00



Kiribati

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January-December 2007	Outer Island	\$253.33	36%	\$90.67
January-December 2007	South Tarawa	\$408.33	21%	\$84.69

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2-Mar-07	3-Apr-07	\$4.17	32	\$133.44

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Kyrgyz Republic

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - April 2007 (monthly)	All	\$102.00	27%	\$28.00
May 2007 - September 2007 (monthly	All	\$126.00	27%	\$34.00
October 2007 - December 2007 (mon	All	\$130.00	27%	\$35.00
K-15 PCVs swore-in on 09/20/07				
For 11 days of September	All	\$46.00	27%	\$12.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
7/9/2007	9/19/2007	\$1.25	73	\$91.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Lesotho

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- December 2007	ALL	\$2,705.55	45%	\$1,217.50

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
1/1/2007 (ie started 11/7/06)	1/11/2007	\$2.13	11	\$23.43
6/12/2007	8/14/2007	\$2.13	61	\$129.93
11/5/2007	12/31/2007	\$2.13	53	\$112.89

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Macedonia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- December 2007	Non-Skopje	\$226.88	39%	\$88.48
January 2007- December 2007	Skopje	\$247.50	39%	\$96.53

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
9/24/2007	12/14/2007	\$2.60	83	\$215.80

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Madagascar

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January	All	\$126.52	46.70%	\$59.08
February	All	\$126.52	46.70%	\$59.08
March	All	\$125.41	46.70%	\$58.57
April	All	\$126.52	46.70%	\$59.08
May	All	\$124.87	46.70%	\$58.31
June	All	\$124.87	46.70%	\$58.31
July	All	\$124.87	46.70%	\$58.31
August	All	\$125.71	46.70%	\$58.71
September	All	\$125.71	46.70%	\$58.71
October	All	\$126.52	46.70%	\$59.08
November	All	\$126.52	46.70%	\$59.08
December	All	\$126.70	46.70%	\$59.17

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/22/2007	5/2/2007	\$3.20	70	\$224.00
6/17/2007	8/28/2007	\$3.20	73	\$233.60
9/27/2007	12/4/2007	\$3.20	69	\$220.80

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Malawi

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- Dec 2007	Urban	\$153.00	34%	\$52.02
January 2007- Dec 2007	Rural	\$140.00	34%	\$47.60

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
Environment 3/1/2007	4/27/2007	\$1.50	55	\$82.50
Health 6/1/2007	7/24/2007	\$1.50	55	\$82.50
Education 9/27/2007	12/11/2007	\$1.50	74	\$111.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Mali

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Capital Bamako	\$315.56	52%	\$164.09
January 2007 - December 2007	Urban	\$293.33	50%	\$152.53
January 2007 - December 2007	Rural	\$233.33	48%	\$112.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
7/21/2007	9/21/2007	\$6.67	63	\$420.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Mauritania

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 07 - May 07	Urban	\$455.00	23%	\$104.65
June 07 - December 07	Urban	\$503.00	21%	\$105.63
January 07 - May 07	Semi-Urban	\$194.00	25%	\$48.50
June 07 - December 07	Semi-Urban	\$201.00	26%	\$52.26
January 07 - December 07	Rural	\$186.00	30%	\$55.80

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/27/2007	9/5/2007	\$1.97	71	\$139.87

Amount Per Month	Tax Amount
\$24.00	\$24.00



México

Taxable Allowances 2007

Living Allowance

Groups	Region	Gross Monthly Amount	Percentage Taxed	Tax Monthly Amount
PCM-1 Singles	NA	\$1,141.00	31%	\$353.71
PCM-2 Singles	NA	\$1,096.00	32%	\$350.72
PCM-2 Couples	NA	\$1,050.00	34%	\$357.00
PCM-3 Singles	A	\$1,050.00	31%	\$325.50
PCM-3 Couples	A	\$1,005.00	32%	\$321.60
PCM-3 Singles	В	\$1,005.00	32%	\$321.60
PCM-3 Couples	В	\$960.00	34%	\$326.40
PCM-4 Singles	A	\$1,050.00	31%	\$325.50
PCM-4 Couples	A	\$942.00	35%	\$329.70
PCM-4 Singles	В	\$1,005.00	32%	\$321.60
PCM-4 Couples	В	\$897.00	36%	\$322.92
PCM-4 Singles	С	\$960.00	34%	\$326.40
PCM-4 Couples	С	\$852.00	38%	\$323.76
PCM-5 Singles	A	\$945.00	31%	\$292.95
PCM-5 Couples	A	\$848.00	35%	\$296.80
PCM-5 Singles	В	\$854.00	32%	\$273.28
PCM-5 Couples	В	\$762.00	36%	\$274.32
PCM-5 Singles	С	\$816.00	34%	\$277.44
PCM-5 Couples	С	\$724.00	38%	\$275.12

Walk Around Allowance (PCM-3)

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
3/24/2007	8/6/2007	\$5.50	77	\$423.50
3/10/2007	12/18/2007	\$5.50	77	\$423.50

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Micronesia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January - December, 2007	FSM	\$383.00	35%	\$134.05
January - December, 2007	Palau	\$415.00	35%	\$145.25

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
9/9/2007	11/10/2007	\$7.00	62.00	\$434.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Moldova

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Rural/Semi-Urban	\$2,707.00	37%	\$1,002.00
January 2007 - December 2007	Urban	\$2,765.00	38%	\$1,051.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/6/2007	8/15/2007	\$2.09	71	\$148.00
9/12/2007	11/21/2007	\$2.17	71	\$154.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Mongolia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- December 2007	Urban	\$147.35	26.3%	\$38.75
January 2007- December 2007	Rural	\$105.13	31.8%	\$33.43

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/4/2007	8/17/2007	\$1.41	75	\$105.75

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Morocco

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
12	ALL	\$3,125.00	42%	\$1,312.50

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
3/6/2007	5/24/2007	\$3.28	79	\$259.12
9/11/2007	11/26/2007	\$3.28	76	\$249.28

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Mozambique

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - May 2007	All	\$919.00	30%	\$275.70
June 2007 - December 2007	All	\$1,414.00	30%	\$424.20

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
9/29/2007	12/6/2007	\$2.57	70	\$180.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Namibia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	All	\$2,753.68	33%	\$908.72

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
Group 26 - 01/01/07	1/5/2007	\$2.81	5	\$14.05
Group 27 - 11/02/07	12/31/2007	\$2.81	60	\$168.60

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Nicaragua

Taxable Allowances 20007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January - June	1	\$227.78	30%	\$68.61
January - June	2	\$194.44	28%	\$54.72
January - June	3	\$233.33	24%	\$56.40
July-December	1	\$241.67	31%	\$74.99
July-December	2	\$194.44	35%	\$68.89
July-December	3	\$252.78	29%	\$72.22
July-December	4	\$201.67	32%	\$63.89

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
January 07		\$1.94	77	\$149.38
May 07		\$1.94	77	\$149.38
September 07		\$1.94	77	\$149.38

Amount Per Month	Tax Amount
\$24.00	\$24.00



Niger

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - Dec. 2007	Urban	\$277.45	45.60%	\$ 126.52
January 2007 - Dec. 2007	Semi-Urban	\$257.98	45.60%	\$ 117.64
January 2007 - Dec. 2007	Semi-Urban	\$269.66	45.60%	\$ 122.96
January 2007 - Dec. 2007	Rural	\$219.04	45.60%	\$ 99.88

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
1/12/2007	3/16/2007	\$1.95	63	\$ 122.66
7/27/2007	9/25/2007	\$1.95	61	\$ 118.77

Amount Per Month	Tax Amount
\$24.00	\$24.00



Panama

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 1 - December 31, 2007	ALL	\$316.00	39%	\$123.24

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
5/16/2007	7/26/2007	\$3.00	71	\$213.00
8/16/2007	10/25/2007	\$3.00	70	\$210.00

Amount Per Month	Tax Amount
\$24.00	\$24.00



Paraguay

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Level I	\$316.46	18%	\$57.47
January 2007 - December 2007	Level II	\$271.25	26%	\$69.85
January 2007 - December 2007	Level III	\$248.64	31%	\$77.60
January 2007 - December 2007	Level IV	\$217.00	36%	\$77.88

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/8/2007		\$3.07	77	\$236.39
5/31/2007		\$3.07	77	\$236.39
9/27/2006		\$3.07	77	\$236.39

Amount Per Month	Tax Amount
\$24.00	\$24.00



Peru

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Urban	\$390.27	49%	\$191.54
January 2007 - December 2007	Semi-Urban	\$334.06	45%	\$151.66
January 2007 - December 2007	Rural	\$306.49	48%	\$146.26

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/9/2007	8/24/2007	\$2.53	77	\$194.81
9/15/2007	11/30/2007	\$2.61	77	\$200.97

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Philippines

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - February 2007	Urban	\$246.15	25%	\$61.54
January 2007 - February 2007	Rural	\$206.59	25%	\$51.65
March 2007 - December 2007	All	\$246.15	25%	\$61.54

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
5/13/2007	8/3/2007	\$1.87	83	\$155.05

Amount Per Month	Tax Amount
\$24.00	\$24.00



Romania

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - March 2007	All	\$361.06	16.26%	\$59.00
April 2007 - October 2007	All	\$330.32	17.78%	\$59.00
November 2007 - Decemebr 2007	All	\$361.06	16.26%	\$59.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
2/26/2007	5/3/2007	\$4.85	67	\$324.95
5/21/2007	7/26/2007	\$4.85	67	\$324.95

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Samoa

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January- December 2007	ALL	\$350.00	35.0%	\$122.50

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/6/2007	8/22/2007	\$1.80	89	\$140.40
10/17/2007	12/12/2007	\$1.80	57	\$102.60

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Senegal

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Rural	\$210.53	48%	\$108.00
January 2007 - December 2007	Small Town	\$239.77	48%	\$112.70
January 2007 - December 2007	Mid-Size Town	\$269.01	48%	\$137.00
January 2007 - December 2007	Major Urban	\$308.00	48%	\$157.00
January 2007 - December 2007	Dakar (Capital City)	\$346.00	48%	\$177.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
3/15/2007	5/12/2007	\$3.77	58	\$218.66
9/13/2007	11/9/2007	\$3.77	58	\$218.56

Amount Per Month	Tax Amount
\$24.00	\$24.00



South Africa

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
Jan - Dec 2007	Urban	\$291.23	40%	\$116.49
Jan - Dec 2007	Rural	\$256.28	40%	\$102.51

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
7/19/2007	9/20/2007	\$2.05	63	\$129.15

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Suriname

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
All	All	\$2,400.00	35%	\$828.00

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
May 19th	Aug 3rd	\$1.77	76	\$134.52

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Swaziland

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Rural	\$3,802.82	31%	\$1,178.87

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/18/2007	8/11/2007	\$3.62	55	\$199.20

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Tanzania

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
December 2006 - November 2007	Urban	\$240.00	34%	\$81.31
December 2006 - November 2007	Semi - Urban	\$202.40	34%	\$68.82
December 2006 - November 2007	Rural	\$160.00	34%	\$54.40

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/12/2007	8/23/2007	\$3.20	71	\$227.20
9/19/2007	11/28/2007	\$3.20	71	\$227.20

Amount Per Month	Tax Amount
\$24.00	\$24.00



Thailand

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	All	\$196.49/mo	59%	\$115.93/mo
Monthly Travel Allow 12 @ \$26.20	All	\$26.40/mo	100%	\$26.40/mo

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
1/14/2007	3/25/2007	\$3.80	70	\$266.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Togo

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007- December 2007	All	\$251.16	44%	\$110.97

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
6/9/2007	8/23/2007	\$1.75	76	\$133.00
9/22/2007	12/6/2007	\$1.75	76	\$133.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Tonga

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - November 2007	All	\$281.17	18%	\$50.61
December 2007	All	\$290.95	18%	\$52.37

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
10/2/2007	12/11/2007	\$3.91	69	\$269.93

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Turkmenistan

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	Ashgabat	\$1,722	35%	\$603
January 2007 - December 2007	Mary	\$1,202	35%	\$421
January 2007 - December 2007	Balkan	\$1,492	35%	\$522
January 2007 - December 2007	Dashoguz	\$1,275	35%	\$446
January 2007 - December 2007	Ahal	\$1,222	35%	\$428
January 2007 - December 2007	Lebap	\$1,302	35%	\$456

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
10/3/2007	12/22/2007	\$0.84	81	\$68.04

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Uganda

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - April 2007	ALL	\$200.00	27%	\$54.00
May 2007 - December 2007	ALL	\$212.00	27%	\$57.24

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
3/2/2007	5/10/2007	\$1.92	70	\$134.40
8/8/2007	10/18/2007	\$1.92	70	\$134.40

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Ukraine

Taxable Allowances 2007

Living Allowance

Months	Training Group No	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	28-31	\$231.00	35%	\$80.85
June 2007	32	\$77.00	35%	\$26.95
July 2007 - December 2007	32	\$231.00	35%	\$80.85
December 2007	33	\$89.00	35%	\$31.15

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
3/28/2007	6/20/2007	\$2.00	80	\$207.13
10/1/2007	12/19/2007	\$2.00	76	\$207.13

Amount Per Month	Tax Amount
\$24.00	\$24.00



Vanuatu

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
January 2007 - December 2007	All	\$453.03	32%	\$143

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
April	June	\$3.60	60	\$216.00
April	June	\$18.00	5	\$90.00
September	December	\$3.60	60	\$216.00
September	December	\$18.00	5	\$90.00

Amount Per Month	Tax Amount	
\$24.00	\$24.00	



Zambia

Taxable Allowances 2007

Living Allowance

Months	Region	Gross Amount	Percentage Taxed	Tax Amount
December 2006 - February 2007	Rural	815.00	28%	228.20
December 2006 - February 2007	Urban	991.00	32%	317.12
March 2007 - May 2007	Rural	686.00	28%	192.08
March 2007 - May 2008	Urban	834.00	32%	266.88
June 2007 - August 2007	Rural	763.00	28%	213.64
June 2007 - August 2007	Urban	927.00	32%	296.64
September 2007 - November 2007	Rural	908.00	28%	254.24
September 2007 - November 2007	Urban	1,104.00	32%	353.28

Walk Around Allowance

PST Start Date	PST End Date	Daily Rate	Total PST days	Tax Amount
1/26/2007	3/30/2007	3.17	64	172.16
6/17/2007	8/17/2007	3.21	62	166.78

Amount Per Month	Tax Amount
24.00	24.00